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Q1 Q2 Q3 Q4 Q5 Q6 Q7 Q8 Q9 Q10

3 3 1 2 2 4 2 4 2 2

Q11 Q12 Q13 Q14 Q15 Q16 Q17 Q18 Q19 Q20

4 2 1 2 2 2 4 1 1 4

Q21 Q22 Q23 Q24 Q25 Q26 Q27 Q28

2 3 1 3 3 2 1 3

29 a) It will increase the chances of some eggs and developing into adults to reproduce
as some of the eggs will be eaten by predators

b) Advantage 1: There will be less competition for food between the young and the
adult
Advantage 2: When one environment becomes uncomfortable, the other stage of
animal can still survive.

30 a) Liquid Z exited the bag in B
b) 2 and 6

31 a) The weight of the insect was not enough to pull down the petals for it to spread
open.

b) K will have less competition for food.
c) Insect K will mistake flower T for flower P and it will help to pollinate its flowers.
d) K will lose its habitat / K will have less food to feed on
e) More carbon dioxide in the air causes more heat to be trapped.



36 a) The warmer water vapour from the surrounding air came into contact with the
cooler crushed cooler air above the crushed ice, lost heat and condensed into tiny
water droplets which are the white mist

b) The presence of salt.
c) The presence of salt increases the volume of water collected.
d) The salt will melt the snow faster and there would be less ice for drivers to slip on.

37 a) Circle *0*
b) When a person walks past X, light from the light source will be blocked and the

light sensor will detect 0 units of light.

38 a) The cold drink loses heat to the chilled mug but the cold drink will gain heat from
the mug at room temperature.

b) Air is a poor conductor of heat. THe drink in Cup X will be gained heat from the
surrounding slower.

c) Less. The outer surface of Cup X is warmer than Y. So Cup X will lose heat to the
cold drink slower, so less water vapour will come into contact with the cooler outer
surface of Cup X, loss less heat, causing less water droplets to form on the
outside of Cup X.

39 a) The spring is extended more after the 1st jump, so there will be more elastic
spring force that pushes him higher.

b)


